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'MULTI DISCIPLINARY COURSE
Paper Code : MDC0200903
( Business Economics )
Full Marks : 45
Time : 2 hours

The ﬁgures in the margin indicate full marks
Jor the questions

1. Choose the correct answer of the following :

1x5=5
fefeRerisr @ ws et Ak Shiea -
(@) Which of the following i is not a part of
microeconomics?

T (P T AT S w2
(i) Factor pricing - ’
oA B v et
(i) National income
W -®
(iij) Demand analysis
SR Resa
(iv) Market analysis
ﬁ I N
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(b) An inferior good is a commodity whose
with an increase in income.

L SN Ry
(i) demand falls
iRt S
(ii) deniahd rises
SifEt A
(iii) suppiy falls’ ’
@ne IW
(iv) supply rises

(c) The éhape of the TFC cﬁr_ve is’

(i) U-shaped -
U3 Tl

(i) rectangular hyperbola
RrSTF Sy wRYe

(iii) straight line parallel to X-axis
X-orq A0S e @l

(iv) straight line parallel to Y-axis
Y-r%] S eI (&
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(d) . Which of the following can be used t6
control credit creation in the economy?

AR et 7R Fegere Rufie cor! oW
o IR AR
(i) Bank Rate
(u) Statutory Liquidity Ratio
RiYrre SereR wprire
- (ili) 'Both (l) and (i)
L) I ) TR
(iv) None of the above
\‘391@1@ <bts 7

(e) Which of the followmg is an example of
market form where the firms are price-
makers?

o OB T %mwr TS sz%éﬁmﬁ
e fdie? - :
(i) Perfect competition
o afraifrer e
(i) Monopoly’ .
GIHA IS

i) -Oligopoly .
7 Reeror @19
" (iv)-Monopolistic competition =
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2. Answer the following questions (any five) :
2x5=10
fafRe 2uweT Tes ot (R it <fobt) -
(@) State the use of economics in business.
(b) Deﬁne‘ anvoligopoly form of market.
o ReFoR @ [ 1S Bt
(c) “Change in demand and change in

quantity demanded are the same.”
Comment.

ARTET @ FA N WY At

| '(d) State any two exceptions to the law of
'~ demand.-

oiftt i R GoiE 491 e fre

(e) Mention any two advantages of demand
forecasting.

st e R i 9ot IR Sy =)
() Define money supply.
@R QNI @t |

(9 How does increase in GDP help in
capital formation? ‘

qbwt%&wmwmw
W IE?
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(h) If X and Y are comphmenta.ty goods,
how does rise in the price of Y affect the
demand for X?

T X G Y oAReEs R =, Y R
X3 v @emE geiRe F+Re?

(i) Differentiate between  long-run
~ production and short-run production.

AR oIF ZPIA Teate iy Fort |
() Define ‘cqnstant returns to :sm.lef.
PR afom 'y et et 1-
3. Answer the following questions (any four)
v ‘ 5x4=20
Frefifie e Sex Bt (R et wif¥e) -
" (a) Describe the features of monopoly.
A | Wy I 3

(b) Explam ‘ﬂ';ebprocedur_e of price determi-
nation under perfect competition.

o TR e T PR s
R gt =1 :

(c) Discuss the various propertles of an
isoquant.

.Wﬂmm@mﬁwwx
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(d) A consumer spends ¥ 1,000 on a good
at a price of ¥ 10. When its price falls
by 20%, he spends ¥ 800. Calculate
elasticity .of demand (ED) usi_ng :
percentage method. .
gT NTF IOOOWWW@WW

i 2SI 10 Bl = | SR @1 N 20%
ZF =i, Cofon st 800 Bl IR FH |

| ol FfegrreN. hiaal m Tgws e
WI

(e) Explaxn the various types ‘of pnce
elasticity of demand: :

mmﬁ%mwﬁmmwwl

(ﬂ " Desciibe the *various tools used for
~ monetary pohcy in India.

W{&ﬁlﬁﬁtﬂmﬁﬁﬁﬁﬁﬁ%w
I :

(g) Discuss the shape of the MC curve with
reference to the MP curve by showing
“the relatlonshrp between them.

mmwwmm@w
@R oS e-is AR gt T e
A @IF TEE (edtt

(h) -Elucidate the various characteristics of
business economics.

e oo Rivw wikiey ea ot 31|
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4. Answer the following questions (any one) : 10

e amwT Tet ot (R @ier @) -

(@) Explain producer’s equilibrium'through
the use of isoquants and isocosts.
THSRAE (@R T TE @R AWOE
TRAMPY ©IFTAY JIJT I |

' (b) State and explain the law of demand.
oIt Ry &7 T g =11

(c) Explain ‘total expenditure method’ and
‘geometric method’ of measuring price
elasticity of demand. 5+5=10

vitnie va RfSgeieet «fRme SR awsy
Wmmw‘mﬁmﬂﬁ%wﬁm
[Pt I

(d) Define perfect competition. Explain the
characteristics of perfect competition.
Give any one example that is close to
perfect competition in the real world.

. 2+7+1=10
G  dfewfrerpe  IwE owe
of afewbrenEe TwRe @Ry T w9
IR Tt 4 AferifrenEe IwRT e 36
o1 4 TWRT R Ier <6t Saraet a1

* % %k
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